

# Applications of resultants in the spectral $m$ -root framework

Vladimir Balan, Nikolay Perminov

**Abstract.** The  $Z$ -eigenvalues,  $E$ -eigenvalues and the corresponding eigenvectors for the Berwald-Moor associated multilinear form in the case  $m = n = 3$ , are computed by means of applying the method of resultants. The complexity of the algorithm and further developments are discussed.

**M.S.C. 2000:** 53B40.

**Key words:** Multilinear form; eigenvalues; eigenvectors; resolvent; Berwald-Moor metric.

## 1 Introduction

In recent years, the theory of resultants has flourished, and its bases as stand-alone branch of mathematics have widely developed ([6], [7], [8], [10], [18], etc). At the same time, much attention has been payed to the spectral theory of supersymmetric tensors, whose numerous applications exhibit unexpectedly promising specific solutions ([14], [15], [16], [17], etc). The present paper applies the theory of resultants to the supersymmetric tensors which naturally emerges from the recently proposed 3-dimensional Berwald-Moor model for relativity theory ([11], [12], [5], etc), aiming to determine the main associated spectral related objects: the  $Z$ -,  $H$ -,  $E$ -eigenvalues, and the corresponding eigenvectors. It should be emphasized, that though the highly tedious straightforward computation technique can be successfully improved by software which leads to the desired goal ([2], [1]), the resultant theory is a useful aid which might significantly accelerate the employed spectral algorithms.

## 2 The resultant method

Generally, within the resultant theory, one may consider the problem of solving the system

$$(2.1) \quad \{ F(x)|_{G(x)=0} = \text{root} \left( \hat{\mathcal{R}} \left[ \left\{ \begin{array}{l} C - F(x) = 0 \\ G(x) = 0 \end{array} \right\}, \{x\} \right], C \right).$$

Further, the system (2.1) can be re-written as

$$(2.2) \quad \hat{\mathcal{R}} \left[ \left\{ \begin{array}{l} C - F(x) = 0 \\ G(x) = 0 \end{array} \right\}, \{x\} \right] \Big|_{F, G \in Pol} = \left\{ \mathcal{R} \left[ \left\{ \begin{array}{l} \mathcal{F}(C; h, x) \\ \mathcal{G}(h, x) \end{array} \right\}, \{h, x\} \right] = 0 \right\},$$

where

- $\hat{\mathcal{R}}[f(x) = 0, \{x\}]$  is the compatibility condition of the system of equations  $\{f(x) = 0\}$ ;
- $\mathcal{R}\{f(x)\}$  is the resultant of the system of equations  $\{f(x) = 0\}$  relative to the variables  $\{x\}$ ;
- $F(x) \in Pol(x^1, \dots, x^n)$ ,  $G(x) = (G^1(x), \dots, G^k(x))$ ,  $G^i(x) \in Pol(x^1, \dots, x^n)$ ;  $\mathcal{F}$  and  $\mathcal{G}$  are practically determined by  $F$  and  $G$ , respectively;
- $root(P(C), C)$  is the set of roots of the algebraic equation  $P(C) = 0$  relative to  $C$ .

There exist several functions  $\mathcal{F}$  and  $\mathcal{G}$  which satisfy the condition (2.2). Depending on their choice, the complexity of the algorithm which determines  $R \left[ \left\{ \begin{array}{l} \mathcal{F}(C; h, x) \\ \mathcal{G}(h, x) \end{array} \right\}, \{h, x\} \right]$ , strongly differs ([6], [7], [8]).

### 3 Eigenvalues and eigenvectors of multilinear supersymmetric tensors

We apply the stated technique to find the eigenvalues and eigenvectors of real supersymmetric tensors. It is known that there exist three type of eigenvalues - having corresponding associated eigenvectors, defined as follows ([14, 17]).

**Definition 3.1.** Consider a supersymmetric tensor  $T \in \mathcal{T}_m^0(\mathbb{R}^n)$  of order  $m$  on  $\mathbb{R}^n$ . Then

a) We say that  $\lambda \in \mathbb{R}$  is an ( $Z$ -)eigenvalue and a vector  $y \in \mathcal{T}_0^1(\mathbb{R}^n) \equiv \mathbb{R}^n$  is an associated ( $Z$ -)eigenvector, if they satisfy the system:

$$(3.1) \quad Ty^{m-1} = \lambda y; \quad g(y, y) = 1,$$

where we have considered the transvection

$$Ty^{m-1} = C_1^1 C_2^2 \dots C_{m-1}^{m-1} (T \otimes \underbrace{y \otimes \dots \otimes y}_{m-1 \text{ times}}),$$

$C_j^i$  is the transvection operator on the corresponding indices and  $y = y^i e_i$  is the Liouville vector field on the flat manifold  $\mathbb{R}^n$ , considered at some point  $x \in \mathbb{R}^n$ , and  $g = \delta_{ij} dx^i \otimes dx^j$  is the flat Euclidean metric on  $\mathbb{R}^n$  which implicitly raises/lowers the tensor indices. For the complex variant,  $\lambda$  and  $y$  are simply called *eigenvalue* and *eigenvector*, respectively.

b) We say that  $\lambda \in \mathbb{R}$  is an ( $H$ -)eigenvalue and a vector  $y \in \mathbb{R}^n$  is an associated ( $H$ -)eigenvector, if they satisfy the homogeneous polynomial system of order  $m - 1$ :

$$(3.2) \quad (Ty^{m-1})_k = \lambda(y_k)^{m-1}.$$

For the complex variant,  $\lambda$  and  $y$  are simply called ( $E$ -)eigenvalue and ( $E$ -)eigenvector, respectively.

Regarding the existence of eigenvalues/eigenvectors, the following result holds true:

**Theorem 3.1.**  *$H$ -eigenvalues and  $Z$ -eigenvalues always exist for even supersymmetric tensors. A supersymmetric tensor  $T$  is positive definite/semi-definite iff all its  $H$ - (or  $Z$ -) eigenvalues are positive/non-negative.*

The  $Z$ -,  $H$ - and  $E$ -eigenvalues and the corresponding eigenvectors for the multilinear tensor (4.1) have been completely determined for the 4-dimensional case ([2], [1]). In the following, we show that employing resultants theory might significantly improve the computational task, and we illustrate this in the Berwald-Moor  $\mathcal{H}_3$  particular case.

## 4 Applications of resultants theory - the $\mathcal{H}_3$ case

In this section, we shall apply the resultant theory for finding the eigenvalues and eigenvectors for an  $m$ -root type supersymmetric tensor with applications in Special Relativity, namely the  $(0, 3)$  Berwald-Moor tensor ([11, 12]):

$$(4.1) \quad A_{ijk} = \begin{cases} \frac{1}{3!}, & \text{for } \{i, j, k\} = \{1, 2, 3\} \\ 0, & \text{otherwise,} \end{cases}$$

associated to the *Berwald – Moor* pseudonorm  $F_{H_3} = \sqrt[3]{|y_1 y_2 y_3|}$ ;

These supersymmetric tensor provides a natural alternative model in SRT, which extends the 3-dimensional classical Minkowski models. The emerging new geometric framework is tightly related to the hypercomplex polynumbers theory and their applications. This leads both to the enhancement of the algebraic subjacent theory due to the geometrical viewpoint, and to the possibility of illustrating basic non-trivial and non-evident objects of the Berwald-Moor type approach by means of the relatively simple objects, such as the polynumbers ([11, 12, 5]).

### 4.1 Application: the $Z$ -spectrum

Applying the method for super-symmetric polynomials  $S(y)$ , with  $\deg(S) = k$ , the  $Z$ -spectral problem leads to the system in the unknowns  $\lambda$  and  $y = (y_1, \dots, y_n)$ ,

$$(4.2) \quad \begin{cases} \partial_i S - \lambda y_i = 0 \\ \sum_{i=1}^n (y_i)^2 - 1 = 0, \end{cases}$$

where we denote  $S := S(s_a)$ ,  $s_a = \sum_{i=1}^n (y_i)^a$ , and  $\sigma_a = \sum_{i_1 < \dots < i_a} y_{i_1} \cdots y_{i_a}$ . For solving the system (4.2) we shall first focus on the adjacent problem of finding the quantities  $p_a = \sigma_a|_{(4.2)}$ . Using  $p_a$ , we further obtain the system  $\{\sigma_a(y) - p_a = 0\}$ , whence we infer that  $y_i$  are solutions of the algebraic equation

$$(4.3) \quad t^n - p_1 t^{n-1} + p_2 t^{n-2} + \cdots + (-1)^n p_n = 0,$$

which follows from the Viéte theorem.

This step practically allows to split the set of unknowns from (2.2). We subsequently obtain

$$(4.4) \quad \begin{aligned} & \text{root} \left( \hat{\mathcal{R}} \left[ \left[ \begin{array}{l} C - \sigma_a(y) = 0 \\ \partial_i S - \lambda y_i = 0 \\ \sum_{i=1}^n (y_i)^2 - 1 = 0 \end{array} \right], \{\lambda, y\} \right], C \right) = p_a \Leftrightarrow \hat{\mathcal{R}} \left[ \left[ \begin{array}{l} C - \sigma_a(y) = 0 \\ \partial_i S - \lambda y_i = 0 \\ \sum_{i=1}^n (y_i)^2 - 1 = 0 \end{array} \right], \{\lambda, y\} \right] = \\ & = \left( \mathcal{R} \left[ \left[ \begin{array}{l} C \cdot h^n - h^{n-a} \cdot \sigma_a(y) \\ h^{n-k+1} \cdot \partial_i S - h^{n-2} \lambda y_i \\ h^{n-2} \sum_{i=1}^n (y_i)^2 - h^n \end{array} \right], \{\lambda, h, y\} \right] = 0 \right), \end{aligned}$$

where  $\hat{\mathcal{R}}$  is the compatibility condition, and  $\mathcal{R}$  is the resultant.

## 4.2 Application: the $H$ - and $E$ -spectrum

For applying the resultant technique towards solving the  $H$ - and  $E$ -spectral problems, we consider the case when  $S = S(s_a)$ ,  $s_a = \sum_{i=1}^n (y_i)^a$ , with  $\deg(S) = k$ , and  $m \leq k \leq n$  and we aim to solve the homogeneous system

$$(4.5) \quad \{\partial_i S - \lambda (y_i)^{m-1} = 0\}.$$

In this case we obtain the similar intermediate problem

$$(4.6) \quad \begin{aligned} & \text{root} \left( \hat{\mathcal{R}} \left[ \left[ \begin{array}{l} C - \sigma_a(y) = 0 \\ \partial_i S - \lambda (y_i)^{m-1} = 0 \end{array} \right], \{\lambda, y\} \right], C \right) = p_a \Leftrightarrow \\ & \hat{\mathcal{R}} \left[ \left[ \begin{array}{l} C - \sigma_a(y) = 0 \\ \partial_i S - \lambda (y_i)^{m-1} = 0 \end{array} \right], \{\lambda, y\} \right] = \\ & \left( \mathcal{R} \left[ \left[ \begin{array}{l} C \cdot h^n - h^{n-a} \cdot \sigma_a(y) \\ h^{n-k+1} \cdot \partial_i S - h^{n-m+1} \lambda (y_i)^{m-1} \\ h^{n-2} \sum_{i=1}^n (y_i)^2 - h^n \end{array} \right], \{\lambda, h, y\} \right] = 0 \right), \end{aligned}$$

where  $\hat{\mathcal{R}}$  is the compatibility condition, and  $\mathcal{R}$  is the resultant.

For applying the general theory to the case (4.1), we first note that in the first case, we have

$$Ty^3 = A_1\sigma_1^3 + A_2\sigma_1\sigma_2 + A_3\sigma_3,$$

where  $Ty^3 = S_3$  and

$$\{\sigma_1 = y_1 + y_2 + y_3, \sigma_2 = y_1y_2 + y_2y_3 + y_3y_1, \sigma_3 = y_1y_2y_3\}$$

is the Gröbner basis of the space of 3-rd order polynomials. We note that for  $A_1 = A_2 = 0, A_3 = 1$  we obtain the first case  $H_3$ . In this case we solve the equations

$$(4.7) \quad \{(Ty^2)_k - \lambda(y_k)^2 = 0\}.$$

We solve the problem of finding the conditions for which the system (4.7) has non-degenerate solutions (non-zero roots):

**Theorem 4.1.** *The system of homogeneous equations of order  $r$   $\{F_i(x) = 0\}$  has non-degenerate solutions iff  $\mathcal{R}\{F_i(x)\} = 0$ , where  $\mathcal{R}$  is the resultant [6].*

*Proof.* In our case we compute  $\mathcal{R}\{(Ty^2)_k - \lambda(y_k)^2\}$ :

$$(Ty^2)_k - \lambda(y_k)^2 = \partial_k(S_3) - \lambda\partial_k\left(\frac{1}{3}s_3\right) = \partial_k\left(S_3 - \frac{1}{3}\lambda s_3\right),$$

where  $\partial_k = \frac{\partial}{\partial y_k}$ ,  $s_p = \sum_{i=1}^3 (y_i)^p$ ,  $p \in \{1, 2, 3\}$ . Like  $\{\sigma_p\}$ , the family  $\{s_p\}$  is a basis for the space of symmetric polynomials, and they are related via:

$$s_1 = \sigma_1, \quad s_2 = \sigma_1^2 - 2\sigma_2, \quad s_3 = \sigma_1^3 - 3\sigma_1\sigma_2 + 3\sigma_3.$$

Hence, we infer

$$\begin{aligned} \bar{S}_3 &= S_3 - \frac{1}{3}\lambda s_3 = S - \frac{1}{3}\lambda(\sigma_1^3 - 3\sigma_1\sigma_2 + 3\sigma_3) = \\ &= (A_1 - \frac{1}{3}\lambda)\sigma_1^3 + (A_1 + \lambda)\sigma_1\sigma_2 + (A_3 - \lambda)\sigma_3 = \bar{A}_1\sigma_1^3 + \bar{A}_2\sigma_1\sigma_3 + \bar{A}_3\sigma_3, \end{aligned}$$

where

$$\bar{A}_1 = A_1 - \frac{1}{3}\lambda, \quad \bar{A}_2 = A_2 + \lambda, \quad \bar{A}_3 = A_3 - \lambda.$$

Then the system (4.7) gets the form

$$(4.8) \quad \{\partial_k \bar{S}_3 = 0\}.$$

The resultant of the system (4.8) is a particular case of the basic function considered in the paper [13], and the conditions  $\mathcal{R}\{\partial_i \bar{S}_3\} = 0$  are equivalent to any of the three conditions

$$(4.9) \quad \left\{ \begin{array}{l} \bar{A}_3 = 0 \\ (2\bar{A}_3 - 3(\bar{A}_2 + \bar{A}_3))^3 - 9((\bar{A}_2 + \bar{A}_3)(2\bar{A}_3 - 3(\bar{A}_2 + \bar{A}_3)) - \\ - 4(\bar{A}_3(6\bar{A}_1\bar{A}_3 + \bar{A}_2\bar{A}_3 - \bar{A}_2^2)) = 0 \\ (2\bar{A}_3 - 3(\bar{A}_2 + \bar{A}_3))^3 - ((\bar{A}_2 + \bar{A}_3)(2\bar{A}_3 - 3(\bar{A}_2 + \bar{A}_3)) - \\ - 4(\bar{A}_3(6\bar{A}_1\bar{A}_3 + \bar{A}_2\bar{A}_3 - \bar{A}_2^2)) = 0. \end{array} \right.$$

If one of the three before mentioned conditions holds true, then the system (4.8) admits a one-parametric family of solutions. In the case when all the three conditions are fulfilled, then  $\bar{A}_1 = \bar{A}_2 = \bar{A}_3 = 0$  and the system (4.8) is satisfied for any  $y = (y_1, y_2, y_3) \in \mathbb{R}^3$  (the 3-parametric family of solutions  $\{y_1 = \tau_1, y_2 = \tau_2, y_3 = \tau_3\}$ ).

While solving the system  $\{\partial_k \bar{S}_3 = 0\}$ , we shall examine only the case when just one of the conditions of (4.9). In this case we infer the system of equations

$$\partial_k \bar{S}_3 = \partial_k \sigma_\alpha \cdot \bar{\partial}_\alpha S_3,$$

where  $\bar{\partial}_\alpha = \frac{\partial}{\partial \sigma_\alpha}$  and, in the equation, we assume summation by  $\alpha$ , and

$$\begin{cases} \partial_i \sigma_1 = 1 \\ \partial_i \sigma_2 = \sigma_1 - y_i \\ \partial_i \sigma_3 = \sigma_2 - \sigma_1 y_i + (y_i)^2 \end{cases}, \quad \begin{cases} \bar{\partial}_1 \bar{S}_3 = 3\bar{A}_1 \sigma_1^2 + \bar{A}_2 \sigma_2 \\ \bar{\partial}_2 \bar{S}_3 = \bar{A}_2 \sigma_1 \\ \bar{\partial}_3 \bar{S}_3 = \bar{A}_3. \end{cases}$$

Hence

$$\begin{aligned} \partial_i \bar{S}_3 + \bar{\partial}_1 \bar{S}_3 + (\sigma_1 - y_i) \bar{\partial}_2 \bar{S}_3 + (\sigma_2 - \sigma_1 y_i + (y_i)^2) \bar{\partial}_3 \bar{S}_3 &= \\ = (\bar{\partial}_3 \bar{S}_3) (y_i)^2 + (-\bar{\partial}_2 \bar{S}_3 - \sigma_1 \bar{\partial}_3 \bar{S}_3) y_i + (\bar{\partial}_1 \bar{S}_3 + \sigma_1 \bar{\partial}_2 \bar{S}_3 + \sigma_2 \bar{\partial}_3 \bar{S}_3) &= \\ = \bar{A}_3 (y_i)^2 + [-(\bar{A}_2 + \bar{A}_3) \sigma_1] y_i + [(3\bar{A}_1 + \bar{A}_2) \sigma_1^2 + (\bar{A}_2 + \bar{A}_3) \sigma_2] &= 0. \end{aligned}$$

We shall first consider the case when the first relation in (4.9) is satisfied. From  $\bar{A}_3 = 0$ , after several computations in which we choose as natural parameter  $\sigma = \sigma_1$ , we find the following solution:

$$(4.10) \quad y_1 = \frac{1}{3} \sigma, \quad y_2 = \frac{1}{3} \sigma, \quad y_3 = \frac{1}{3} \sigma.$$

We examine further the cases when the last two relations in (4.9), are satisfied. In these cases we assume  $\bar{A}_3 \neq 0$ . For solving our system, we use the following transformation ([13, formula (5)]):

$$F_i = \frac{1}{\bar{A}_3} \partial_i \bar{S}_3 + \frac{\bar{A}_2 + \bar{A}_3}{\bar{A}_3(2\bar{A}_3 - 3(\bar{A}_2 + \bar{A}_3))} \sum_{i=1}^3 \partial_i \bar{S}_3.$$

We note that  $2\bar{A}_3 - 3(\bar{A}_2 + \bar{A}_3) \neq 0$  (in the contrary case, the last two relations in (4.9) are simultaneously satisfied, fact which leads to the solution (4.10)), and hence the considered transformation is non-degenerate, since its determinant is  $\frac{2}{\bar{A}_3^2(2\bar{A}_3 - 3(\bar{A}_2 + \bar{A}_3))} \neq 0$ . Then we obtain the following system, which is equivalent to the original one:

$$(y_i)^2 + 2A\sigma_1 y_i + B\sigma_1^2 = 0,$$

where

$$\begin{cases} A = -\frac{\bar{A}_2 + \bar{A}_3}{2\bar{A}_3}, \\ B = \frac{6\bar{A}_1 \bar{A}_3 + 2\bar{A}_2 \bar{A}_3 - \bar{A}_2^2}{\bar{A}_3(2\bar{A}_3 - 3(\bar{A}_2 + \bar{A}_3))}. \end{cases}$$

Further, choosing as natural parameter  $\sigma = \sigma_1$ , we finally infer

$$(4.11) \quad y_1 = p_1\sigma, \quad y_2 = p_2\sigma, \quad y_3 = p_3\sigma,$$

with  $p_1, p_2, p_3 \in \{\mu_1, \mu_2\}$ , with

$$\begin{cases} \mu_1 = -A + (A^2 - B)^{1/2} \\ \mu_2 = -A - (A^2 - B)^{1/2}. \end{cases}$$

Further, we shall examine the case of the system

$$\begin{cases} (Ty^{n-1})_k - \lambda y_k = 0 \\ (y_1)^2 + \dots + (y_n)^2 = 1, \end{cases}$$

for  $Ty^3 = S_3 = A_1\sigma_1^3 + A_2\sigma_1\sigma_2 + A_3\sigma_3$ . □

We shall further use the basis  $\{s_1, s_2, s_3\}$ ,  $s_a = \sum_{i=1}^3 (y_i)^a$  of the space of 3-rd order symmetric polynomials. We note that  $S_3 = A_1s_1^3 + A_2s_1s_2 + A_3s_3$ , where  $A_i$  are certain constants. We aim to solve with respect to  $\{\lambda, y_1, y_2, y_3\}$  the system

$$(4.12) \quad \begin{cases} \partial_i S_3 - \lambda y_i = 0, \quad i \in \{1, 2, 3\} \\ s_2 = 1. \end{cases}$$

While solving (4.12), we shall impose on  $A_1, A_2, A_3$  no additional constrains, hence we shall examine the most general case. The system (4.12) is equivalent to

$$(4.13) \quad \begin{cases} \sum_{i=1}^3 (y_i)^m \cdot (\partial_i S_3 - \lambda y_i) = 0, \quad m \in \{0, 1, 2\} \\ s_2 = 1. \end{cases}$$

The (4.13) leads to the system whose unknowns are  $\{\lambda, s_1, s_2, s_3\}$ :

$$(4.14) \quad \begin{cases} \sum_{a=1}^3 a \cdot s_{a+m-1} \bar{\partial}_a \left( S_3 - \frac{1}{2} \lambda s_2 \right) = 0, \quad m \in \{0, 1, 2\} \\ s_2 = 1. \end{cases}$$

Assuming that the solutions of the system (4.14) are found, then the solutions of (4.13) can be determined as follows. Let  $\{\lambda(A_k); s_1(A_k), s_2(A_k), s_3(A_k)\}$  be the solutions off (4.14). Then each solution of (4.14) will lead to a class of solutions of (4.13), denoted by  $\{\lambda(A_k); p_1(A_i), p_2(A_i), p_3(A_i)\}$ , where  $(p_1, p_2, p_3)$  are the solutions of the equation

$$(4.15) \quad p^3 - \sigma_1 p^2 + \sigma_2 p - \sigma_3 = 0,$$

with  $\{\sigma_a\}$  functions of  $s_a$ , as follows:

$$\begin{cases} \sigma_1 = s_1 \\ \sigma_2 = \frac{1}{2} s_1^2 - \frac{1}{2} s_2 \\ \sigma_3 = \frac{1}{6} s_1^3 - \frac{1}{2} s_1 s_2 + \frac{1}{3}. \end{cases}$$

It is important to stress that the solutions of (4.15) are expressed in terms of radicals, and, for brevity, we shall not include their explicit expressions. We solve in the following the system (4.14). Since in our case the basis of symmetric polynomials is  $\{s_1, s_2, s_3\}$ , then  $s_a$  for  $a \geq 4$  will functionally depend on  $s_1, s_2, s_3$ . In particular,  $s_4 = \frac{1}{6}s_1^4 - s_1^2s_2 + \frac{4}{3}s_1s_3 + \frac{1}{2}s_2^2$ . Hence,

$$\bar{\bar{\delta}}_m \equiv \sum_{a=1}^3 a \cdot s_{a+m-1} \bar{\delta}_a, \quad m \in \{0, 1, 2\}, s_0 \equiv 1$$

will have the following explicit form:

$$(4.16) \quad \begin{pmatrix} \bar{\delta}_0 \\ \bar{\delta}_1 \\ \bar{\delta}_2 \end{pmatrix} = \begin{pmatrix} [1] & [2s_1] & [3s_2] \\ [s_1] & [2s_2] & [3s_3] \\ [s_2] & [2s_3] & [3s_4] \end{pmatrix} \begin{pmatrix} \bar{\delta}_1 \\ \bar{\delta}_2 \\ \bar{\delta}_3 \end{pmatrix},$$

where  $s_4 = \frac{1}{6}s_1^4 - s_1^2s_2 + \frac{4}{3}s_1s_3 + \frac{1}{2}s_2^2$ . Having in view that

$$\begin{pmatrix} \bar{\delta}_1 \\ \bar{\delta}_2 \\ \bar{\delta}_3 \end{pmatrix} (s_3 - \frac{\lambda}{2}s_2) = \begin{pmatrix} 3A_1s_1^2 + A_2s_2 \\ A_2s_1 - \frac{1}{2}\lambda \\ A_3 \end{pmatrix},$$

the equations (4.14) lead to the following equivalent system

$$(4.17) \quad \begin{cases} \begin{pmatrix} [1] & [2s_1] & [3s_2] \\ [s_1] & [2s_2] & [3s_3] \\ [s_2] & [2s_3] & [3s_4] \end{pmatrix} \begin{pmatrix} 3A_1s_1^2 + A_2s_2 \\ A_2s_1 - \frac{1}{2}\lambda \\ A_3 \end{pmatrix} = 0 \\ s_4 = \frac{1}{6}s_1^4 - s_1^2s_2 + \frac{4}{3}s_1s_3 + \frac{1}{2}s_2^2 \\ s_2 = 1. \end{cases}$$

Simplifying, we infer the following 3 + 2 equations

$$(4.18) \quad \begin{cases} \begin{pmatrix} [1] & [2s_1] & [3] \\ [s_1] & [2] & [3s_3] \\ [1] & [2s_3] & [3s_4] \end{pmatrix} \begin{pmatrix} 3A_1s_1^2 + A_2s_2 \\ A_2s_1 - \frac{1}{2}\lambda \\ A_3 \end{pmatrix} = 0 \\ s_4 = \frac{1}{6}s_1^4 - s_1^2 + \frac{4}{3}s_1s_3 + \frac{1}{2} \\ s_2 = 1. \end{cases}$$

Eliminating from the second equation of the system (4.18) the variables  $\lambda, s_3, s_4$ , we get the system of 4 equations:

$$(4.19) \quad \begin{cases} \lambda = \frac{1}{s_1}((3A_1 + 2A_2)s_1^2 + A_2 + 3A_3) \\ (s_1^2 - 1)[(18A_1^2 - 24A_1A_3 + 3A_3^2)(s_1^2)^2 + (12A_1A_2 + 36A_1A_3 - 8A_2A_3 - 15A_3^2)s_1^2 + (2A_2^2 + 12A_2A_3 + 18A_3^2)] = 0 \\ s_2 = 1 \\ s_3 = \frac{1}{3A_3s_1}(-3A_1s_1^4 - A_2s_1^2 + 3A_1s_1^2 + A_2 + 3A_3). \end{cases}$$



The solutions of the second equation of the system (4.19), according to the rest of the equations of the system, form an infinite set  $\{\lambda(A_k), s_1(A_k), s_2(A_k), s_3(A_k)\}$ . It is essential to stress that the second equation of (4.19) has its solution expressed in terms of radicals, and for brevity, we shall not include its explicit form.

Hence we have obtained that, considering (4.15) and the second equation of (4.19), the solution of the original system (4.12) can be expressed in terms of radicals (is rational), and its exact form is given by (4.15) and (4.19). We note, that the system (4.19) admits, as well, solutions which do not satisfy the system (4.13). These roots correspond to the solutions of the second equation of (4.19),  $s_1 = \pm 1$ . By discarding them, we obtain the final set of solutions.

## 5 Conclusions

**Acknowledgement.** The present work has been partially supported by the Romanian Academy Grant 4/3.06.2009 and developed under the auspices of the Academic Grant GAR 4/3.06.2010 between Romania and Republic of Belarus. The authors are grateful to A. Morozov, Sh. Shakirov and participants of the ITEP Moscow seminar on non-linear algebra for the useful discussions on the present subject.

## References

- [1] V. Balan, *Numerical multilinear algebra of symmetric  $m$ -root structures. Spectral properties and applications*, Symmetry: Culture and Science, Symmetry Festival 2009, Symmetry in the History of Science, Art and Technology; Part 2; Geometric Approaches to Symmetry, Budapest, Hungary, 21, 1-3 (2010), 119-131.
- [2] V. Balan, *Spectral properties and applications of numerical multilinear algebra of  $m$ -root structures*, Hypercomplex Numbers in Geometry and Physics, 2 (10), 5 (2008), 101-107.
- [3] V. Balan, S. Lebedev, *On the Legendre transform and Hamiltonian formalism in Berwald-Moor geometry*, Differ. Geom. Dyn. Syst. 12 (2010), 4-11.
- [4] V. Balan, I.R. Nicola, *Berwald-Moor metrics and structural stability of conformally-deformed geodesic SODE*, Appl. Sci. 11 (2009), 19-34.
- [5] V.M. Chernov, *On defining equations for the elements of associative and commutative algebras and on associated metric forms*, In: (Eds: D.G.Pavlov, Gh.Atanasiu, V.Balan) "Space-Time Structure. Algebra and Geometry", Lilia Print, Moscow 2007, 189-209.
- [6] V.Dolotin and A.Morozov, *Introduction to Non-Linear Algebra*, World Scientific, 2007, hep-th/0609022
- [7] I.M. Gelfand, M.M. Kapranov, and A.V. Zelevinsky, *Discriminants, resultants and multidimensional determinants*, Birkhäuser, Boston, 1994.
- [8] I.M. Gelfand, A.V. Zelevinsky, M.M. Kapranov, *Discriminants of polynomials in many variables*, Funkts. Anal. Prilozh., 24, 1 (1990), 14.
- [9] S. Janson, *Resultant and discriminant of polynomials*, Notes, September 22, 2007.
- [10] P.A. Parrilo, *Algebraic techniques and semidefinite optimization*, Lecture 6, MIT 6.972, February 28, 2006.

- [11] D.G. Pavlov, *Four-dimensional time*, Hypercomplex Numbers in Geometry and Physics, Ed. "Mozet", Russia, 1, 1 (2004), 31-39.
- [12] D.G. Pavlov, *Generalization of scalar product axioms*, Hypercomplex Numbers in Geometry and Physics, Ed. "Mozet", Russia, 1, 1 (2004), 5-18.
- [13] N.S. Perminov, *The configuratrix and resultant*, Hypercomplex Numbers in Geometry and Physics, Ed. "Mozet", Russia, 1, 6 (2009), 69-72.
- [14] L. Qi, *Eigenvalues of a real supersymmetric tensor*, Journal of Symbolic Computation 40 (2005), 1302-1324.
- [15] L. Qi, *Eigenvalues of an even-order real supersymmetric tensor*, Jour. Symb. Comp. 40 (2005), 1302-1324.
- [16] L. Qi, *Rank and eigenvalues of a supersymmetric tensor, the multivariate homogeneous polynomial and the algebraic hypersurface it defines*, Jour. Symb. Comp. 41 (2006), 1309-1327.
- [17] L. Qi, W. Sun, Y. Wang, *Numerical multilinear algebra and its applications*, Front. Math. China, 2(4) (2007), 501-526.
- [18] B. Sturmfels, *Discriminants, Resultants, and Their Tropicalization*, Course Lectures, 2006.

*Authors' addresses:*

Vladimir Balan  
University Politehnica of Bucharest, Faculty of Applied Sciences,  
Department of Mathematics-Informatics I,  
313 Splaiul Independentei, 060042 Bucharest, Romania.  
E-mail: vladimir.balan@upb.ro

Nikolay Perminov  
Kazan State University, Russian Federation.  
E-mail: Nikolay.Perminov@ksu.ru